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Section A (10 marks)

Questions 1 to 5 carry 2 marks each.

For each question, four options are given. One of them is the correct answer.

Make your choice (1, 2, 3 or 4) and write your choice in the bracket ( ) provided.

1. Seven hundred and eight is the same as

(1 78

(2) 87

(3) 708

(4) 780 ( )

2.  Thedigit7in741isinthe ._place.

(1) ones

(2) tens

(3) hundreds _ .

(4) thousands { )

3. Look at the number pattem below. What is the missing number?

NAAAATAY

(1) 66
@ 67
(3) 68
4) 69 | ()



Read the word problem.

Emily coliected 45 stickers.
She had 28 fewer stickers than Yu Xuan.
How many stickers did Yu Xuan coliect?

Which one of the following is the correct model shown for the word problem?
< 45

T

(1) Emily [

y
Fa

E—28—> 9

YuXuan [ H
< 45 >
Emily [ : .
(2) 78 5
Yu Xuan
—7 =
Emily |
(3 28— 9
YuXuan [ P | 4.

- 45 _—
) Emily |

g <— 28 — > (
YuXuan [ : ]
What does §
5§ 1 &
(1) 1
(2) 2
3) 3
4 4 (




Section B {12 marks)

Questions 6 to 11 carry 2 marks each. Write your answers in the spaces provided.

G. Wirite the number 845 in words.

Answer:

7. Look at the number pattern below.
Complete the pattern by filling in the missing number.

Answer:

Answer;




9. I'am a 2 digit number between 61 and 69.
The sum of my digits is 13.

What numberam i ?

10. What is the missing number in the box?
8 5 4
6 ? 9
1 6 9

Answer:

Answer:

1. Pelling has a total of 327 red, biue and yellow marbles,

She has 130 red marbles and 127 yellow marbles.

How many blue marbles does she have?

-~ 130 marbles S 127 marbles -

/
h

-
e

327 marbles

Answer-

v




Section C (8 marks)

Questions 12 and 13 carry 4 marks each. :
Show your working clearly in the space below each question and complete the answer statement

12.  Lynn has 283 red beads.
She has 97 fewer red beads than blue beads,
How many blue beads does she have?

Lynn has blue beads.

13.  There are 232 boys at a theme park.
There are 80 more boys than girls at the theme park.
(a) How many girls are there at the theme park?

There are giris at the theme park.

(b) How many children are ‘there at the theme park?

There are children at the theme park.

pRemember to check your work! Every mark counts.
I --End of Paper—
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Section B

Q6) Eight hundred and forty five
Q7) 220

Q8) 125

Q9) 67

Q10) 8

Q11) 70

Section C
Q12) 283 + 97 = 380 blue beads

Q13) a) 232 - 80 = 152 girls
b) 232 + 152 = 384 children
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